
World Leader 
in Concrete Vibrators 

 

Review 3 . From serial number nr 104035 

POKER MR38 AFP 

 

 

 



 

ARTICLE DESCRIPTION QUANTITY  

0 86412‐10 POKER HEAD MR38AFP‐T 1.0000  

1 101122 BEARING 626 2RS C3 1.0000  

2 101152 BEARING 6001 C3 2.0000  

3 101166 BEARING 6200 C3 2.0000  

4 102305 ALLEN BOLT M 5×15 DIN 912 8.8 2.0000  

5 103375 SPLIT PIN CIL. DIN6325 2,5×6 1.0000  

6 81531 CAP 1.0000  

7 81532 TUBE 1.0000  

8 81533 ECCENTRIC 1.0000  

9 81535 REAR BEARING SUPPORT 1.0000  

10 81536 JOINT SLEEVE 1.0000  

11 81537 CLOSING HOSE 1.0000  

12 81538 PACKING GLAND NUT 1.0000  

13 81539 PACKING GLAND JOINT MR38 1.0000  

14 81609 BAR DIA.2,5x30 mm 1.0000  

15 8E138S0 STATOR 1.0000  

16 8R038A ROTOR 1.0000  

17 81677 SPRING INTERNAL CABLE 1 m 3F 1.0000  

18 122021 TUBE SAE 2ST 100 R2A 3/4" DIN 20022 5.0000  

19 107080 STAINLESS STRAP C.203 9,6×0,65 30,5m 1.0000  

20 107081 BUCKLE BAND‐IT C253 ﴾3/8 ﴿ 1.0000  

 



12  

 

13  

 
14  

11  
 

10  

9 

8 
18  17  

16  7 

20  6 

15  

5 

4 
 

3 
 

2 
21  
 

19  

1 

World Leader 
in Concrete Vibrators 

 

Review 3 . From serial number nr 104035 

HF BOX SWITCH 

 

 

 

 

 

 
 



 

ARTICLE DESCRIPTION QUANTITY  

1 81470 BOX SWITCH 1.0000  

2 81675 CABLE‐PRESS 2.0000  

3 102540 SELF‐TAPPING SCREW 4,2×19 DIN 7982 4.0000  

4 81673 SEAL SWITCH 1.0000  

5 102299 ALLEN BOLT M 4×20 DIN 912 8.8 1.0000  

6 81671 HOLDER SWITCH 1.0000  

7 102539 SELF‐TAPPING SCREW 4,2×13 DIN 7981 F 4.0000  

8 102178 FLAT WASHER 5 DIN 9021 1.0000  

9 102204 HEXAGONAL NUT M 4 DIN 934 5.6 1.0000  

10 102538 SELF‐TAPPING SCREW 4,2×25 DIN 7981 4.0000  

11 81676 PLUG 4.0000  

12 81672 SWITCH COVER 1.0000  

13 81674 SEAL PLUG 1.0000  

14 103753 SWITCH MARQUARDT 0344.0201 1.0000  

15 107080 STAINLESS STRAP C.203 9,6×0,65 30,5m 1.0000  

16 81615 REINFORCEMENT CABLE 1.0000  

17 103915 CABLE H07 RN‐F 3x4 mm 10.0000  

18 103784 PLUG 3P 40/50V 32A 200 Hz 1.0000  

19 103729 PACKING GLAND without NUT PG16 1.0000  

20 102301 ALLEN BOLT M 4×14 DIN 912 8.8 1.0000  

21 107081 BUCKLE BAND‐IT C253 ﴾3/8 ﴿ 1.0000  
 


